Addivg, \fockors ¥

i A drag racer mioves X=3SOun 2, A person wilks X= 0wt
B mdownaracstiaek. Y= Ow E30. minortly: Yoy SOV

3." Resolve the following vectors into their componerits.

A= [Imls ces220°

; ! B.
A , . <= ’_q lquS
A N e,
G Ty st
Uy v
K= Hos & <M
2o Tweos 3]
= S 8w l: 7 Twals | |
{4, Find the resultant of the tolkmmv £ VeCtaTs, 5. Add these-vettors together, Assutiie each-square = Tm,
f "f&‘! . &A, Draw the resultant from. r TTTT — A K= O
; R i ,the startiof: the-first vector i 1] . L ¥i= G
o He e second. ANRi \h#?, i
Label it “R™. LT 1} B K=l
Ll INE 35 ,': DR RN Y= 3wl
B: Xews HM Gy Lk
€ Yar= 10770 AT Yew=9M
s:}u-r-'- —9rm Il D Deawthe resuitant (R,
D Caic "_’;he mizenitude E. Calcolatethe direction k " ' ,
(lengthyof R, of R

AT cz ¥ c B C':!cu}ate R’s magmtude F. Calculate R “sdirection:
@ 3?- ({o.’h.b C i <1 19 Arth2= 4 -, Tan® JE., e
- L aeten L7 | b Gayoc

pd.y = ¢ ' e
mm 0= 675" | Wit z:ll-c{m SR

6 A person. walhs "50 m north, then 30 mat 35%, Find: their tatal displacement,
: A, Be

mthestatof Bl Reswluss ¥ and ¥ into gl
‘components (Sfep T-on'the fronty:

Xﬁ = O . X: = (h PCOS‘@- ..Xm{.‘ﬂ = 4{ ( M
: SOm@ES»

. X=d Wﬂ -

. ¥, = - ﬂ : -Ymﬁ] o S‘?!‘?Wt
=1 Yl Epv’\ Yo l/“’(,ﬂ Clin & )
L 2, " 5&'

' 24,2 R SO s R SE 7
> o =28 7w "l-:n-ez.é% 2 LM

@Q‘L_‘_@-{-? XL: 2" Magnitude = 7 , r G m Dilecg;nw o (_( ( I

T A&d thesc: vectors: V=55 mal 38% and Vo= 104 260

A: Draw V, N, andR biglow. B. Resolve v, ang v;ulto,_the’ir Xow= U)o
'ébmpdne?;ﬁts (Step 1 ot the fronty ' _

Xp=hypxd o Yoz 2001 M
: ) = ]’P Xom= Iayr(ose

S 160 2 & - o
¥ 10 S 005 (O (05 260

U2 3w 07 Magnitude = l ;
- Vishpgme Yo o0 éb |
. z_ L1Y vt$ 113 ¢ O g 20 Directioi = .

339m ~1 8w 05 Lo B s B0
' Lo




